Math 102 - Fall 2013 - Quiz #8

Name: @D

Score:

out of 10.

Show all work clearly and in order.

1. Compute and simplify GCF(300, 630)
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2. Compute and simplify LCM(300,630) = 223% §°. F

3. Draw a region/area model to represent the fraction 4/7.
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4. Draw a number-line model to represent the fraction 4/7.
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6. (a) Simplify%—y%: —?‘:.[——‘—l"l :\_3?1_ ‘

(b) Illustrate your solution to (a) using an area (region) model.
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(c) Illustrate your solution to (a) using a number-line model.
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7. Determine whether 67 is prime or composite.
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